HONORS Algebra 2 Name:

UNIT 1 STUDY GUIDE Unit 1: Quadratics Revisited

Copy problems and show oll work on a separate sheet of paper (neatly!).

 —

ctoring

. l.eart_llng Target 1: Factor Quadratic Expressions and Solve Quad(atic 'Equations by Fa

#1-4: Factor the expression completely.
1) ox'+2dx+16 (3x¥U)* ) ¥ osx-as (XA1ANxHY)

3 12¢-30x ox(8X-5) 4 16x*-Bx-24 §(Ax-3)oeH)

5} What numbers can you use for bin X7 « bx - 24 so that the expression can be factored?
Assume that b > 0 (positive). Hint: Begin with a product-sum table. b= & ) 5 , 10, A

Solve each equation by factoriti

6) 3x* +10x=8 ¥ 2-4)-3. N -16=0 y=%t 8555 -11x=0 xzoJ%-

]

| Learning Target 2: Complex Numbers and Solve Quadratic Equations using Other Methods

Make sure you know the powers of i: i '=i, ¥ =-1, i = -j, I = 1,...[remember the pattern repeots)

Simplify corggletely . .
9) 12-J-50 13A+5{3 L 10) 3i¥ - 5i* =H+3,

11) What is the complex conjugate of -6+ 717 —(-"1A

#12-15: Simplify or perform the indicate operation. Write tour answer in standard form.

12) (34 20) 4 (<TI-4)—(6-5() =]  13) (2-3i)(4+5i) 1) (3-11) ,
| a3-31 - 11— o 4
15) :j;" — At 34 16) What is the complex conjugate of =2 + 7 7
e S

17} Solve for x by completing the square. Give exact solutions in simplest form. x* =8x +6
X =4+ {32

18) Solve using the quadratic formula, Give exact solutions in simplest form.

52+4 =
X X=5 x_-_.'-‘a: + a1
FIe



Solve the equation using any method [try to choose the best one). Give exact solutions in simplest

form (no decimals).
CS 19 3x*+12x=9 K=-2+k(7 20) 3x* - 5x=-1 A= %i{% QF

21) 7x*445-2¢ <25 X=EAA 22 3(x-1)17-38 X=4,=& TO

I0
QF 23) 5x°+6x+9=0 X=-§'t%i 24) x* <13 =6x x=—3‘!'.9.l QS

25) Find the discriminant of the quadratic equation. Do NOT solve the equation.
8l Tx'+6x42=0 = 20 b) 2x*-3x+1=0 |

c) x*-6x+9=0 0 d) X +4x-1=0 Q0

26) The discriminant of a quadratic equation is given is given. What does it tell you about the number
and type of solutions the equation will have?

318 & real rrahonal b) -16 & "ma.%;n”'j
93 2 real rational a0 | (upe..:\d )’rd)rah'm‘n {

27) Determine if the graph of the quadratic function has 0, 1, or 2 x-intercepts.

a)y =x*+4x-1 b) y =7X* +6X+2

The discriminant is 20, so the graph The discriminant is =30 so there are no x-intercepts.

has 2 x-intercepts.



